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A, la+3(a-D=a"-9 B. -y -1l =(x+y)x-y)-1

C. a?-9a=alx+3)(x-3) D, X®-2x42y-y =(x? =9} -2(a - y)
2, B 1570 - S0y + 205V A ERER ( )

A. Sxy B. 51‘13': C. 522y D. 5x%°

3. PSR PHEHRSRIERATE ( )

A. 5x% = 10xy + x =5x(3x - 6y)

B. -d4m’+16m>-6m= -2m(2m* +8m -3)
C. 6(x-2)+x(2-x)=(x =26+ x)

D. 2€a-5b+4(b-a)=20a-6)(a-b+2)

4. —15¢°+Sa=____ (3a-1

5. ala-y)-bly-x)=(x-y)____)

6. -a'+2a’b+ab’=___ (a’-2ab-b?)

7. 30m*n +25m°n -5mPnP=5mPn(______ )

8. %uhl+'g'bl<'= (2a +3c¢)

9. ZUA126(a~b) -8b(a-b) HAERR AT ARAE
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24, WA 15" + 122" - 21 AHAR B BAAGE F-1TEHAR
28. CHa-3=b+ec, WERa(a-b-c)-bla-b-c)-cla-b=-¢)=

28, HTH(-2)™ 4 (-2)"MEERY ( )
A 2™ B. -2 c. -2m D. -1

27. fﬂ%azfx -2a)?- ‘li' a(2a - x) AR

28. i 2457 - 302 AR,

DM - DM - O MRS R - D0

29. Eﬁﬂ]x;y=4. xy=%. R 227y + 2% ROME.

30. E%ﬂu%, REDR(a+1)(2a-3)+(a+1)(2a-3)2-(a +1)(3-2a)By{4.
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1. FHEA D, ERHEFEARNNATROGE ( )
A. at+ b? B. —aZ+b?
C. —a?-b? D. -(-a)-5?
2. ¥ a*h? - P MR ( )
A a*(b+e)b-¢) B. (ab+ac)(ab-ac)
C. a®(b-c) D. a2(& - ¢?)
3. SrRER 5" -5y AR E ( )
A S{x -y (x+ 9D B. 5(x+y" M x-y)x+y) %
C. 5(x-y")? D. 5(x-y)*(x+y)? ]
4. EFAERMAR, BE0RE () 2
A. —%xz+0,01=[0.|+%x](0.l-—%x] g
B. (a-b)-(b-a)=(b-a){(b-a)-1]=(b-a)(b-a+1)(b~a-1) n
C. 9a+2b) —16c¢= (3a+6b+4¢) (3a+6b—4c) »
D. ’b-ab’=abla®+ b*)(a+b)(a-b) 2
5. 25a’-____ =(5a+2b)(5a-2b). n
6. Ao -2 8
7. A (2x -3y P —da?= - E
8. AN - gi= s
9, }Eaz(x—}')+b2(}'-x)ﬁﬂit. TEJ

10. {84x° - (a - b)) SpEEHAR.

11, 38 - 2x% + 32%° R
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1. TR RERT S TFHAXNBHLE ()
Al = x4 2xy -7 B. x'-2x3y + 2%y?
C. (#7-37-203-D +1 D. xz—-xy+%y2
2. POBRATRAXERNE ()
2
A, )‘(x—}')—:]l-f:{%x-—y) B. ¥ +12(3-x)=(x-6)°
2
C. 27 —6x-9=(x-3)° D. %x—%x+l=(%x+l)
3. -2yt + 9 B EEFFR, WA kR ( )
A. 4 B. 4y? C.2 D, 2y
4. fiat-mary =(av3) WmOEST ()
A -2 B. 2 C. 1 D. -1
5. 1657 -4x+__ = (4x-3)%.

6. ARl +4m+4m’=
7. AR 2-dx + 227
8. AX B (a+b)-6(a+b)+9=

9. HAIME 25+ 102y + 1°y° =

10. A58 - 9m? — 16n° + 24mn = .

1. £ 9 + myy + 25y B P REFHFR, M m =_

12, #7127 +2(m -3)x + 16 RELFHR, W m WESTF .
13. {E(p-q)+14(qg - p) + 49 HMEH.
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14. 1 -9+ + 1842 - 9x SRR

15, 0 m = m)+ ;—(mz— m)+,—'65}ﬁ$wzt:.
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16. B(x* -1 +6(1 - 2*) +9 5rAEHA.

17. 8(a +26) - 6ala +2b) +9a* A

18. iF16(a - 62 + 24(b% - a?) +9(a + ) FBER,.

19. 18 7(a* - 1) 2 - 28(a? - b%) xy” AR,

20. iB(2%+ y2)2 - 42292 HRER.

21, 4B ( e+ b2 - ) -4’5 PR ER.

22, B (20 - 10222322 - 1P + x(2x - 1)* AR ER,.
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23, i+8 527 +48% +52x %6.

26, cHx=56, y=aa, KRBT 000 1y2 0t

25, Hat+2a+ 07 -66+10=0, Wa, bHHAY ( )
A a=1, b=3 B. a=1, 6=-3
C. a=-1, b=3 D. a=-1, b= -3

26. RiF: 4m®>+12m + 25+ 9n? - 24n B E

27. B4 a, b, ciHRa*+ b+ P=abtbctca, RiF: a=b=c.
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28. B (m-2n)-2m+4n+1=0, R{m-2n)" (4.
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8.3 SHAHSEE (—)

1. FHIZWMAF, MERATETBREREIBAE ()

A. Sx+mx+5y+my B. 5x+ mx +3y + my
C. 52— mx + 5y — my D. 5x - mx + 10y - 2my
2. %o’ - ab +3b - 30 HEEX, FERMTAER ( )

A. (a?-3a)+(3b-ab) B. (e?-ab) - (3a-3b)
C. (3b-ab)+(a’-3a) D. (a*+3b) - (ab +3a)

3. BEWMA 3ax +3bx - 3x +day +4by -4y DHEARAR, FAEHHERE ()
A. (Bax +4ay) + (3bx +4by) + (- 3x - 4y)

B. [(3ax+3bx) + (day +4by) ]+ { - 3x - 4y)

C. [(3ax -3x) + (day -4y} ] + (3bx + 4by)

D. (3ax +4by) + (3bx +4ay) + ( - 3x —4y)

4. S5x{a+b)-a-b=la+b) ).

B.alvab-ac-be=(a-c)(__ ).

6. {B4a’-3b+ ab- 120 HRER, HEH

7. B3+ be -3ac - ab AL,

OMESEHHEEE - OB - DY N —

8. {7+ -3y + xy - 21x SHRER.

9. i 4xy +2y -8x - y? 4HREAR,.

10. 125 + 2* - 62 - 3 HRER.




cuesrinsscisestarsasnasrerany enrrannan fessrsaseatratsesnarsntssarsitsestrsstatanessrissrerine B3/ \EE 2 EWSRL (J

.

11, 1 5a’m = 15am + 3abm — Obm SR

12 o+ b+ a-ax + b - by FRAR.

13, B+ e 2P+ o FRER.

14, fax + 2by + ex - 2ay — b - 20 APRREE
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15, %+ ¥+ 457 +3x + 3 4HREA.
16. ?'E'.xzy - yzz I 2P yzx + zz_v - 20z AR

17. F_'.:ﬂ]x+3'+z.=0, KEmA x3+x23+)'2z—x)'2+J‘3 gz
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